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ADVANCED LEVEL PHYSICS - AMITH PUSSELLA

Multiple Choice Questions

1. In the expression 1 nm  =  10ooooo µµµµµm, the number that should be entered into the square would be,

(1) + 6 (2) + 3 (3) + 2 (4) - 3 (5) - 6

2. When the two expressions P + Q = 8   ,  P2 - Q2  =  16 are solved and values of  P and Q are obtained,   we get,

(1)  P  = 1 (2)  P = 3 (3)  P = 4 (4)  P = 5 (5)  P = 5

 Q = 7  Q = 4  Q = 3  Q = 3      Q = 4

3. The  radius of a mercury drop is 2 cm. When it is scattered into eight equal drops, the radius of one small drop would

be,

(1) 1 cm (2)
  1 

 cm (3)
  1  

cm (4)
    1  

 cm (5)
   3  

cm
 4  2   8         4

4. In the expression V  = 
  T 

  ,  V is velocity and T is tension. When those quantities are expressed in SI units,
    k

the SI unit of k would be,

(1) Nms-2 (2) Nm2 s-1 (3) N s2 m-2 (4) N2 m2 s-1 (5) N1/2 s m-2

5. When measuring the mass of a wire of length 40 cm, it is obtained as 120 mg. The mass of one meter of the wire in kg

would be,

(1) 3 X 10-1 (2) 3 X 10-2 (3) 3 X 10-4 (4) 3 X 10-5 (5) 3 X 10-6

6. Quantity having units equal to that of work done is,

(1)      Force x cross sectional area (2)  Mass x acceleration

(3)
Force

(4)  Pressure x volume
     Cross sectional area

(5)      Pressure x cross sectional area
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7. The resistance of a wire is 1 Ω Ω Ω Ω Ω and its resistance is increased to 6 ΩΩΩΩΩ  when heating it. The percentage increment of

the wire caused by heating would be,

(1) 5 % (2)  6% (3)  500%

(4)  600% (5)  20%

8. A frame is made using a wire with a unit thickness , as shown in the figure. The radius of its small circle is 3.5 cm

while the radius of the large circle is 7 cm. If the mass of 1 m of that wire is 2 kg, the mass of the whole frame would

be,

(1) 88 kg (2) 188 kg (3) 92 kg

(4) 94 kg (5) 96 kg

O

9. Velocity of light in air is 3 x 108 ms-1. A reflective surface is kept at a distance of 60 m from the light source. The time

taken by light emitted from the source to return to the source after getting reflected by the reflective surface , in mili

seconds (ms) would be,

(1) 4 x 10-4 ms (2) 2 x 10-4 ms (3)
   1  

x 10-4 ms
        4

(4)
  1 

 x 10-4 ms (5) 2 x 10-10 ms
 2

10. A hole is made inside a solid sphere having uniformly distrib-

uted mass. If the mass of the remaining portion is m0 & the

mass of the removed portion is m1 ,

 m
0
          equals to,

 m
1

(1) 3 (2) 4 (3) 8

(4) 7 (5) 6

1 cm

2 cm


